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2.3 ��������� 
 
 

���  330(476.5) 
������	
���� ���	
�
�	��	�  

����
�	��� 	�	 «
�������� �	
��» � �	�	��� 
�������	
���� 

����. ���	
�
	 �.
.,  �. �. 
., ���. �	��� �.�. 
��������	 
���
���������	 �������
������	 ����������� 

 
��������	�
 � ���
�� �� ���������	� ����������� ����������� � ������
 ������
 ������������� 

����������. ���������� ��	
��� ��	������� �������� � ������ ������ ������������� ����������, ��!��� 
�� ������� � ���� ������
 �
��� ���� ����������� � ����������. "�
� ����	�������  ��
�	������ 

������� ������ ������ ������������� ���������� �����������, � ������� ���	��������� �� ������� 
������� ��	
�� ������
 ��	����������. #��  ��	����� � ���� ������ ������������� ���������� 
����������� ��������� �� ��$� ������: �������������
 ����������� �������
�, ��������
�
� �	� 
��������	���� ������������� �����	
�����; ������������� ���������
 �������	�; ���������������
 
���������
�� ������������� ���������. 

%	� ������ ������ ������	����� ��
� ��	� ����	
������ ��&''������� ����	�!����� � 
������� 
������ ������������� ���������� (��'�	���� ).)., � �
���� ��&''������ �������	� �������� � "*#+-, 
��&''������ �
������� �	� "*#+-, ��&''������ �������� ����� �������, ��&''������ �������� ����� 
���������. -�������� ������ ��������	� ��� ���
�!����� ��	����
 �������� ��������	� �� ������ 
������	�����. /�� ����$� ����	������� ����������
 �	������
 ������
. +�!��� ��&''������ �
��� 
�������� ��������, ������ �� �������� ������	����� ����� ��	�!���� ����
��� ����������� � 
������������� �'��� (	���� 	��� ���	�������	
). *����� �� &���� ����
��
��� ��	�!���� ����������� 
������������� ��		�: 1��		, ��	� ����������� � ������������� �'��� ��	����� 	�����
; 0,5 ��		�, ��	� 
����������� � ������������� �'��� ��	����� ���	�������	�
.  

���
�!������� ��������	
 ������������� ���������� �� ����� �$ ������	����� ��� - �������������
 
����������� �������
� �	� ��������	���� ������������� �����	
����� ������	����� �� '��
�	�: 

  
                                                                           k 1=��/amax                                                                                                                    (1) 
 
��� �� – ��

� ����������� ��		��; �max – 
����
�	
�� ���
�!��� ��	������� ��		��. 
�	������� ������	����� ������������� ���������� ���	���� ����	����
�� 
������� ��	����� 

������������� ���������
 �������	�. %	� ��	������ ��'��
���� �	� ���	��� &��� ������	����� ��	� 
����������� ������, � ������� ��������
� ��	� ���
 ������ �	������
 ��������
: 

� �������������
 �������	� ��������
�
� ������
� � ��'��
����� � ��	���� ���������; 
� ���������
 �������	� ��	������
 ��������
�
� ������
� �	� ��������� ��������	���� 

������������� ��������; 
� ���������
 �������	� �����
��
 ���������, ���������� � ����������� � ����	
�����
 ��; 
� ���������
 ����������� � �����
, ���������
, ��
������
 � ������
 
���� �������� ���������; 
� ���������
 �������	� � ��������	���� ������������� �����	
�����; 
� ������� �������	� � �������� �����	�������� �������; 
� ��	���� �����
� ��������� � 
�������� ����������� ��������	� �������	� �����������; 
� ���������
 ����������� ����������� ��������	��
 ��������, ��������� � �����
; 
� ����������
 ����������� ����	��
 ��������
�� ������
 ����������; 
� ������
 �������, ���������	��
�� �������	�, ��������	����
� ������������� �����	
����
; 
� ������!�� �� ������� ����������� ��������� �������	�; 
� ��	���� ����
��������� �� ������ ��������� ��������� 
�!�� �����	�������
 � �������-

�����	��������
 ������
. 
%	� ������ �����������	����� ��������� ����	
����	��
 ��� ��������: «0» � «1».  
«0» - ��������	
��� ������; 
«1» - ��	�!���	
��� ������. 
(���
�� ������	����� ������������� ����������, ���	���� ����	����
�� 
������� ��	����� 

���������������
 ���������
�� ���������. %	� ��	������ ��'��
���� ��� !� ��	� ����������� ������, 
� ������� �������	��
 ���
 ������ �	������
 ��������
: 

������������ ���������
�� ������������� ��������� ��������� ������� �����; 
� ������������ ���������
�� ��������� ��������� ��
�� �����������; 
� ���������
 � ���
�� � ����������
�; 
� ������������ ��������� ����������� �	�!����
�� ��	����
; 
� ���	
��� ���
�!����� ����������� ���	��������
 ������������� �������; 
� ������
 ���������������� ������������� ��������� �� ���������
 �����; 
� ������
 ���������������� ������������� ��������� �� ������
 �����; 
� ������������ ���	����
�� ������������� �������� ��������� �����������; 
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� ����������
 ���������� '������������� ������������� ��������; 
� ������������ ������� ����������� ��������� ������������ �������������� ��������. 
+������� ������ ������������� ���������� �� ���������������� ���������
�� ��������� 

���!������� �� «0» �� «10». 
�� ��!��
� �������� �������������� ���������'
��������� �������� �������	����� ���������
�
� 

�������.  6���
 ��� ��

������� � ��	���� �� 
����
�	
�� ���
�!��� ��

� ������ . (���
 ������
 
� 
��	����
 ���
�!������� ��������	� ������������� ���������� �� �����
 �$ ������	����
: 

 
                                                                         ki =��/amax                                                                                                                         (2) 
 
��� � – ���������'
��������� �� ��!��
� �������� ������; 
      amax – 
����
�	
�� ���
�!��� ��	������� ��

� ������ �� ���� ������	�����. 
+�!��� �� ���
�!������� ��������	�� �
��!����� �� ��&''������ �����
����. (�� ��� � 

����	�!����� 
������� ������������� ���������
 ����������� �� ��$
 �$ ������	����
, �� ��!��� 
������	����� �
��� ������ ��&''������� �����
���� – 0,33. 9 ����� ��	������� �������� ��&''������ 
������������� ���������� �����������: 

 
                                                             K=k1*0,33+k2*0,33+k3*0,33                                                                  (3) 
 
%������� �������� ������ ������������� ���������� �����������: 
� = 0 – ����������� ��������, ���������� ������������� �����	
����� � �����������. 
0<�<0,33 – ������ ������
 ������������� ����������. 
0,33<�<0,66 – ������� ������
 ������������� ���������� (����	��������	
���). 
�>0,66 – ������������� ���������
 ����������� ��������� �� ������
 ������. 
�������
 ���	�� ������������� ���������� #)# «9�������� �����». 
%	� ���	��� �������������� ����������� �������
� �	� ��������	���� ������������� �����	
����� 

�������
 ����$�  ��������
�� ��&''��������, ������	�
 ��������� � �������
 ��		�. -���	
���� 
��������	��� � ���	���. 

 
(��	��� @ -���	
���� ������ ������������� ���������� #)# «9�������� �����» �� ��������� 

��������� ��������	�� 

"��
�������� ��������	� 6������� 
��������	� ��������� ����������� 

��		� 
+�&''������ �������	�, �������� � 

"*#+- 0,0016 ���	�������	
 0,5 

+�&''������ �
������� �	� "*#+- 0,0674 ���	�������	
 0,5 

+�&''������ �������� ����� ��������� 0,0050 ���	�������	
 0,5 
+�&''������ �������� ����� ������� 0,1629 ���	�������	
 0,5 
�����
���� �
����� �� ����
� �������
.  
 
-��������
 ���
�!������� ��������	
 �� &��� ������	�����: 
 
                                                         k1=(0,5+0,5 +0,5+0,5)/4=0,5 
 
�������
 ���	�� ������������� ���������� �������	� � ���������������� ���������
�� 

������������� ���������. %	� ��	������ ��'��
���� ��	 �������� �����-������������� ����������� 
����������� �� ��������	����
 ���� ��������
. 

���
�!������� ��������	� ������������� ���������� �����
��� �	������� ��������. �� ���	��� 
������������� ���������� �������	�: 

 

k2=(0,69+0,92+0,92+0,92+0,85+0,92+0,77+0,85+0,62+0,69+0,77+0,38) /12=0,78 
 

�� ��������	� ���������������� ���������
�� ������������� ���������: 
 

k3=(9,00+9,31+8,85+9,23+7,62+8,08+8,15+9,31+6,38+9,00) /100=0,85 
 

-��������
 �������� ��&''������ ������������� ���������� #)# «9�������� �����». 
 

K=0,33*0,5 +0,33*0,78+0,33*0,85=0,7029 
 

(���
 ������
, ���	���� ����	�!����� 
������� ������
 ������������� ���������� #)# «9�������� 
�����» ������ ��� �������. 

 
������ ����	
�������� ���������� 
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